What is the name of this < j
reaction:

C6H1206 + 02---> Hzo + C02 + Energy

Is the stalk and capsule the
sporophyte or gametophyte
portion of a moss?
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What is the name of this
reaction:

H20 + C02 + nght -—=> C6H1206 + 02

g
What is the name of this _)
reaction: J

Sugar + Oxygen ---> Water + Carbon Dioxide + Energy

7
What are the root like On which portion of a
structures of a moss flower is]ihe sperm
called? 7 produced? .rj
/
- J
.The Owjlry is logated The sticky top of the pistil
within which portion of a ‘s called what?
flower?
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Of the four major types of plants:

Non-vascular seedless plants
Vascular seedless
Vascular non-flowering (gymnosperm)
Vascular flowering (angiosperm)

Which types have sperm that swim?
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Of the four major types of plants:

Non-vascular seedless plants
Vascular seedless
Vascular non-flowering (gymnosperm)
Vascular flowering (angiosperm)

Which type is frequently carried by
the bride during a wedding? § )
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